


[20] 4.) Find the general solution to ty′ − 2y = t3et − 8. Also find the solution that
passes thru the point (1, 3). How does the solution passing thru (1, 3) behave as t → ∞?

ty′ − 2y = t3et − 8 implies 1y′ + (− 2
t )y = t2et − 8t−1.

Integrating factor: u = e
∫

p(t)dt = e
∫

− 2
t dt = e−2ln|t| = eln(|t|

−2) = t−2

Let u(t) = t−2

t−2y′ − 2t−3y = et − 8t−3

(t−2y)′ = et − 8t−3 Check: (t−2y)′ = t−2y′ − 2t−3y∫
(t−2y)′dt =

∫
(et − 8t−3)dt

t−2y = et + 4t−2 + C

y = t2et + 4 + Ct2

y(1) = 3: 3 = (1)2e1 + 4 + C(1)2 = e+ 4 + C

3 = e+ 4 + C. Thus C = −1− e

IVP soln: y = t2et + 4 + (−1− e)t2

y = t2et + 4− t2 − et2

y = t2(et − e− 1) + 4

t → +∞, t2 → +∞ and et → +∞ and hence et − e− 1 → +∞ .

Thus y = t2(et − e− 1) + 4 → +∞

General solution: y = t2et + 4 + Ct2

IVP solution: y = t2(et − e− 1) + 4

t → ∞, y → +∞



5.) Solve the following 2nd order differential equations

[15] 5a.) 2y′′ − y′ + 10y = 0

Guess y = ert

2r2 − r + 10 = 0. Thus r =
1±

√
(−1)2−4(2)(10)

2(2) =
1±

√
(1−80)

4 = 1±
√
−79
4 = 1

4 ± i
√
79
4

General solution: y = c1e
t
4 cos(

√
79
4 t) + c2e

t
4 sin(

√
79
4 t)

[15] 5b.) x(x′′) = (x)2 Hint: Let x′ = dx
dt = v, then v′ = dv

dt = dx
dt

dv
dx = v dv

dx

Also x′ = dx
dt = v implies x′′ = v′ = dv

dt = dx
dt

dv
dx = v dv

dx

xdv
dt = v2, but this has 3 variables, so replace dv

dt = dx
dt

dv
dx = v dv

dx

xv dv
dx = v2

dv
v = dx

x

ln|v| = ln|x|+ C

v = Cx

dx
dt = Cx

dx
x = Cdt

ln|x| = Ct+ k

x = keCt

Check: (keCt)(kC2eCt) = CkeCtCkeCt

General solution: x = keCt



[15] 6.) Show by induction that for Picard’s iteration method, ϕn(t) =

n∑
k=1

t2k

k!

approximates the solution to the initial value problem, y′ = 2t(1 + y), y(0) = 0 where
ϕ1(t) = t2. You may use the proof outline below or write it from scratch.

Proof by induction on n.

For n = 1,

1∑
k=1

t2k

k!
= 3(−1)1+1 t1+1

(1+1)! = 3 t2

2! = ϕ1(t)

Suppose for n = j, ϕj−1(t) =

j−1∑
k=1

t2k

k!

Claim: ϕj =

j∑
k=1

t2k

k!

Proof of claim: By Picard’s iteration method, ϕj =
∫ t

0
f(s, ϕj−1(s))ds

=
∫ t

0
2s(1 +

j−1∑
k=1

s2k

k!
)ds

=
∫ t

0
(2s+

j−1∑
k=1

2s2k+1

k!
)ds

=
∫ t

0
(

j−1∑
k=0

2s2k+1

k!
)ds

=

j−1∑
k=0

2t2k+2

(2k + 2)k!

=

j−1∑
k=0

2t2k+2

2(k + 1)k!

=

j−1∑
k=0

t2k+2

(k + 1)!

=

j∑
k=1

t2k

k!




